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Answers to HW #6:

15.) 7t - 28 16.)-2n + 12 17)3m+12  18.)b-4/5
19.) 2x- 6 20.) 4y + 6 27 ) exe=l 28.) -x + 3

29.)-3-X 30.)-3 +x



Section 1-7

Simplify. 4(x +11)

The Distributive Property.



S Key Coneepts Distributive Property

For every real number a, b, and c.

alb + ¢) = ab + ac (b + ¢)a=bha+ca

alb = ¢) = ab - ac (b= c)a=ba~ca

Examples 5(20 + 6) = 5(20) = 5(6) (20 + 6)5 = 20(5) + 6(5)

930 - 2) = 9(30) - 9(2) (30 - 2)9 = 30(9) - 2(9)

Simplify each using the Distributive Property

I 3(7w-5)= }IV\/ [/j 2. -8(10-3c)=/507l'%£
3. -(5k+3)=’5’4/3 4. (2P +5)7 = HP’@’?
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Simplify each: L}
1. Tk « 8k 6?% 2 4. 5w ew 5W
9
2 6¢2 « 8¢* %6C(p s 10a°b - 3a* §0a’ b
W
3. 2mx? « Tm*x3 Hm X

Use this variable expression:

-14wW? -18wx +4x2 -30
¢ How many terms are there?@
Terms are separated by addition or subtraction.

If variables and numbers are connected with
multiplication and division they create a single term.



Use this variable expression:

-14wW? -18wx +4x2 -30

e \What do we call the numbers
-14, -18, and 47

Coefficients

Use this variable expression:
-14w? -18wx +4x2? -30
¢ \What do we call the number -30?

A constant



Term:
could be:

mjust a number
m just a variable (with or without an exponent)
= the product of more than one variable

m the product of a number and a variable or
variables.

Rearrange these terms so that like terms are
grouped together.
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Like Terms:

Terms that have both of the following conditions:

o Same variable(s)
o Same exponents on those variable(s)
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~ombining i :

Finding terms that are alike then adding and
subtracting them using the coefficients so that
there is only one term with each type of variable

part.
Simplify.
OX*-4X + Tx - 3 +]x? - 12

B IORm’ 315



Simplify each.

1 A +7)32x-4)= A{)(Jrzg_w(ﬂ;
= _2X+40

2. 5-4a\(ia/—3)+6a+.232-9
) 5’-—%&*’\%*%*%’7
= /QOL’LH?OK’%
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5. -6a%b +ab? - 4b%a + 7ab - 2a%b - 5ab?
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HW #7: pg. 50 #21-26, 35-42

IXLs assigned: A.8 & |.7



